T

El\’(L\\

H

\I\\

fhZe (AR01)

THEL4 | R7#E )1 db - KES\ZEfL fEfERETE (1) VT FHEN Sy 7)1 e fes
PRAY) THEX5y SRR
THX 5y - AR - R - A5 Biks HLAT ¥ (mifal) i (4D KR e

FIR BT

= 1
)+
= 1
A L
= 1
| TR, M5 BRI B Y
(B L]
m3 5
HeRE e
= 1
PAZET
= 1
PAZET.
m3 19
S T
= 1
KD
= 1
BOsEMHR S - BRiE Gr-C-2B
m 14
G an
= 1

=N

i




1.5

-

=Ry

it fEae (AN01)

TH4 | R7#E @)1 de - KRERA\ZfL FEMERE LE (1) (HOF FHEN Sy 7)1 e fes
PRAY) THEXSy SRR
THX 5y - AR - R - A5 Bikk HLAZ ek (gilED) e (4m) KR S
THER T
[Jiti LY — K]
= 1
THEAERK L - il
m3 70
BRI SR HRS 22X 1, 524 X 3, 048 (mm) , 1
B R
m2 40
+nH KA LD 5 Bk LR 0 5
% 33
BRI
= 1
+0 9 KIS0 5 Bk et 00 5
1% 84
HEAK T — B
m2 60
KT
= 1
INVVAE? N Pk B 0LA 1240 (m3/h) A
H 10
RKHE T
= 1
G IR A BHEERY =F L U ¢ 800
m 8
9 TR I




=Ry

= 9/A

fhZe (AR01)

J_L:i E:I‘/ CD
TH4 | R7#E @)1 de - KRERA\ZfL FEMERE LE (1) (HOF FHEN Sy 7)1 e fes
PRAY) THEXSy SRR
THX 5y - AR - R - A5 Bikk HAL ek (gilED) e (4m) KR S
5B 1L T
= 1
15 k722 R oy R - 1=
(e T — R&EpT]
m 20
1G5 k722 R oy R - 1=
[t En T
m 20
AT BT
= 1
A2 A B B
AH 60
[ERCRIES ¢
= 1
Bl TR
= 1
@R
= 1
Y
= 1
R T2
t 7
iSet ¢
= 1

=N

i




1.5

-

=Ry

=Y

RfEZR (AN01)

H

THE4 | R7f+E )1 dc - KRES\ZEfL BEfERETE (1) VT FHEN Sy 7)1 e fes
PRAY) THEX5y SRR
THX 5y - AR - R - A5 Bikk HLAZ ¥ (mifal) e (4m) KR e
e FE AR B R M 3
= 1
Hffv & ey
= 1
EREE TV Y
= 1
M@kt (G L)
= 1
T
= 1
Bl E
= 1
TRl
= 1
— A B
= 1
T liA%
= 1
THABIRE K O 5 1 2 B4
= 1
THEGE
= 1
- TR I




T

El\’([_\\

\I\\

fhZ< (AR02)

THEL4 | R7#E )1 db - KES\ZEfL fEfERETE (1) VT FHEN Sy 7)1 e fes
PRAY) THEX5y SRR
THX 5y - AR - R - A5 Biks HLAZ ¥ (mifal) e (4m) KR e

FIR BT

= 1
)+
= 1
A L
= 1
el TR, M5 BRI B Y
m3 1
HeRE e
= 1
@R iE L
= 1
1E7KEBE
m3 0.1
Fggay))—h
m3 1
HEEYE T
= 1
OGS HUE L T
= 1
370~ MR LS LB G X 55 A
m3 1

=N

i



=Ry

EL A

fhZ< (AR02)

J—L:i E:I‘/\

TH4 | R7fEE #)1 db - RER\ZEfh fBfERELE (1) (HOFR FHEN Sy 7)1 e fes
PRAY) THEX5y SRR
THX 5y - AR - R - A5 Biks HAL ¥ (mifal) i (4D KR e

R
m 0.5
G an
= 1
+ 8 - i) L
= 1
SO E IS
% 44
[EREMIE: -
= 1
%
= 1
M@kt (G L)
= 1
il T
= 1
Bl E
= 1
TRl
= 1
— R PR
= 1

=N

i




THEERTLER (4R02)

THEL4 | R7#E )1 db - KES\ZEfL fEfERETE (1) VT FHEN Sy 7)1 e fes
PRAY) THEX5y SRR
THX 5y - AR - R - A5 Biks HAL ¥ (mifal) i (4D KR e
T EAfliks
= 1
THEBIRE K O 5 T e B
= 1
THEGF
= 1

=N

i



